FEHENRE

1. ¥%4
¥B4 BF0 T AR EREE) | AR HURE (i AR S
BT T JNARART ) [ H585 T

2. ¥BNE

1) FHEI4 SR ERE FHET FsiR/KRER
2) JEITHIH 333 HIH H &fn 74 47260

B R 8% 3H24H

3) WEHY
BT, BRI KRB AR T 0 V= 7 MBS bR Tk s
2T HERRHEINCHE S BB ORITE TR DU CRETEAT 5 b T
b5,

4) FEBNE
BRL TEERRR ) D LBy

o BRI e



B

ARE

ERA | AT AR K R I SRR N S ER FREESS
HH WK AR T
THE - TfE - FE5 B & & %A Ao AR
S K 5 A 2V 8, 713, 100
WEZK A5 A A = 8,773, 100
TSR iﬁ 8,773,100 | I
1 =
BRI R
1 =
T M A
1 52V
WNKRATE T VARG
1 =
AVIS-Z
1 =
FIE 7 R ket
1 =
S EER
1 =
H3m = 630, 620
Im GREHES) = 193, 120
ZDfh, X 57,700 | & [RIEH S AL
1 Ei|
2N BR RS AR AR iy 135,420 | ZABHECE S ERR
1 ES S
Him GAE - FHmES) = 437, 500
e = 437,500 | fTA&HE
1 =
BR3¢ 2y 304, 115
-1- EAmE  Jup s iR



HAL AR

ERA | AT AR K R I SRR N S E R FREESS
HH [ERZIE S
THH - TfE - FER ¥ iva & & %A OB R
[R5 = 304, 115
ik AL m =X 140, 115 | Jk# (i E - ERE)
1 X
Pl B o 2 164,000 | &R TERCE
1 =
EERAM (2O <) = 9,707, 835
Z OJEAR = 5, 063, 903
— AR B =X 7,948, 262
eSS =X 22, 720, 000
-2 - EAmE  Jup s iR



